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Section 11.3 Assessment
30. A net ionic equation shows only those 33. a. Ag*(ag) + Cl~(ag) — AgCl(s); spectator

particles involved in the reaction and is ions are H*(ag) and NO5~(aqg)

balanced with respect to both mass and b. Pb“(aq) + 2CI7(ag) — PbCl,(s); spec-

charge. tator ions are Li*(aq) and C,H30,7(aq)
31. Use the general rules for solubility of c.Crt (aq) + PO43’ (ag) — CrPO4 (s);

ionic compounds (Table 11.3). spectator ions are Na*(ag) and Cl~(aq)
32.a. sz"{aq) + 5042‘ (ag) — PbSOy(s) 34. a.BaS0Oy(s) b.Al(OH)3(s) c.Ag,S(s)

b. Pb“(aq) +2CI~ (ag) — PbCly(s) d.PbCly(s) e.CaCOs(s)

c. Fe3*(aq) + PO,>~(aq) — FePO,(s) 35. a.yes;Ag,S0,(s) b.no  c.yes;CaSO,(s)

d. Co?*(aq) + S*~(aq) — CoS(s) d.yes;PbCl,





